2.3 Differentiability
Calculus

Name:

‘ Given f(x) and f'(x) on a given interval [a, b], find a value c that satisfies the Mean Value Theorem. |

1. f(x) = —x?+4x —2; [-1,2]
f'(x)=—-2x+4
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6. f(x) = x3 + 24x — 16; [0,4]
f'(x) =3x%+ 24
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able to quickly find the answer with

Using a calculator find the value of the derivative at a given point. DON’T

a calculator.

show any work. You should be

7. f(x) = x? +5x

8. f(x) = csc5x

9. f(x) =Inx
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10. f(x) = 11. f(x) = e™ 12. f(x) = 8x2 — 5x3
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Match each function with the graph of its derivative.
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